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QUESTION 1

Which statement is true about relationships in Watson Knowledge Studio type system?

A. Relationships must be between only two entities.

B. Relationships can occur between more than two entities.

C. Relationships can be implied as long as there is sufficient statistical probability to warrant the inference.
D. Relationships can occur in more than one direction between entities.

Correct Answer: A

Reference https://cloud.ibm.com/docs/services/knowledge-studio?topic=knowledge-studio-typesystem

QUESTION 2

What is the purpose of the IBM Watson Natural Language Classifier service?

A. Interpret the intent behind text and returns a corresponding classification with associated confidence levels
B. Reduce the number of random utterances consideration, by obtaining a set of uncorrelated utterances

C. Translate a natural language sentence into a syntactic representation such as a parse tree

D. Group a set of objects in such a way that objects in the same group are more similar to each other than to those in
other groups

Correct Answer: A
IBM Watson Natural Language Classifier is a service that enables developers without a background in machine learning
or statistical algorithms to create natural language interfaces for their applications, interprets the intent behind text and

returns a corresponding classification with associated confidence levels and the return value can then be used to trigger
a corresponding action, such as redirecting the request or answering a question.

QUESTION 3

As a developer begins to construct a conversational agent using IBM Watson Assistant service, which activities would
they start with?

A. Gather representative questions

B. Design the dialog flow

C. Add new content based on user activity

D. Deploy it on the local machine before deploying it live

Correct Answer: B
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Reference: https://developer.ibm.com/tutorials/cc-watson-chatbot-conversation-nlu/

QUESTION 4

When would this pattern be used?

1. Video plays and 2. Audio is transcribed 3. Concepts are 4. Concepts are

audio is analyzed gathered ranked based on
confidence

A. When there is a need to disambiguate the output of a dialog

B. When there is a need to analyze or index content contained within an image

C. When there is a need to analyze or index content contained within speech

D. When there is a need to search through output from Natural Language Classifier

Correct Answer: C

QUESTION 5

What is a common use case for the IBM Watson Natural Language Classifier service?

2024 Latest geekcert C1000-012 PDF and VCE dumps Download

5. Recommendations
are given based on top
concepts

A. Enable back and forth natural language conversations with a user for clarifying questions or helping a user take an

action

B. Design marketing material and provide product recommendations that is more personal and relevant

C. Find the right person for a specific job or project based on classifications found in a person\\'s resume

D. Organize tweets into a set of categories, such as events, news, or opinions

Correct Answer: D

Reference: https://console.bluemix.net/docs/services/natural-language-classifier/natural-languageclassifier-

overview.html#use-cases
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